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MEMS* precision oscillators (TCXO & OCXO)

PTP+SyncE (hybrid mode) is most commonly used INTRODUCTION enables best dynamic performance
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MEMS precision oscillator achieves best AF/AT | System architecture

- +1 ppb/°C for TCXO, + 0.1 ppb/°C for OCXO | = Sync (MTIE, TOEV 6.8262) >ynck performance in breezy air

MEMS TCXO * PTP (Tlme Error)
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PTP time error (without SyncE) PTP+SyncE PERFORMANCE PTP+SyncE reduces TE generation

SyncE assists PTP by providing a
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Sync loop time constant = 20s; Temperature change rate = 10°C/min frequency reference traceable to PRC

Synck BW = 0.1 Hz; Temperature change rate = 10°C/min
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